Priloha ¢. 1

Celkovy pifrehled komunikaci Ill tfidy
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Celkem: [celé katastralni izemi 33 | 3399 3183 | 16 279 19 67 177 545 20 84 0 0 0 0 0 169 214 27 | 2206| 216 4 0
5
035C |Husova 11 333 333 1289 0 0 0 0 0 0 0 0 0 0 1 - vyborny 3,70 82 0 0 0 0 0
041C |Komenského - odstavna ploct Il 24 24 67 0 0 0 0 0 0 0 0 0 0 4 - nevyhovujici 2,80 0 0 0 0 0
042C |Komenského (pfed kostelem)| 1l 70 70 728 0 0 0 0 0 0 0 0 0 0 2 -dobry| 10,40 0 0 0 0 0
044C |Komenského - odstavna ploct Il 0 0 0 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 4,50 0 0 17 0 0 0
045C |Mostecka 11] 217 217 1023 0 0 0 0 0 0 0 0 0 0 1-vyborny| 4,00 0 1 0 0 0
046C |Komenského - parkovisté 11 19 0 19 67 0 0 0 0 0 0 0 0 4 - nevyhovujici 3,50 0 0 0 0 0
047C |Komenského - parkovisté 11 11 0 0 0 11 50 0 0 0 0 0 0 3 - vyhovujici 4,50 0 0 0 0 0
048C |Priéna - odstavna plocha 11 11 0 0 0 11 0 0 0 0 0 0 0 3 - vyhovujici 0,00 0 0 11 11 0 0
055C |V zatisi 1l 257 257 975 0 0 0 0 0 0 0 0 0 1 - vyborny 3,00 38 0 0 0 1 0
069C |Komenského - parkovisté pieq Il 20 0 0 0 0 0 20 84 0 0 0 0 2 - dobry 4,20 0 1 20 0 0 0
073C |Komenského - parkovisté 11 12 0 0 0 0 12 94 0 0 0 0 0 0 5 - havarijni 7,80 0 1 0 0 0 0
074C |Dukelskych hrdinG 11 303 303 1698 0 0 0 0 0 0 0 0 0 0 4 - nevyhovujici 5,50 0 6 0 0 0
076C |Dukelskych hrdint - parkovac| IlI 10 0 0 0 0 10 65 0 0 0 0 0 0 3 - vyhovujici 6,50 0 0 10 0 0 0
080C |V Zahradach 11 295 295 1047 0 0 0 0 0 0 0 0 0 0 2 - dobry 3,00 0 1 18 0 0 0
081C |V Zahradéach - parkovisté 11 13 0 0 0 0 13 81 0 0 0 0 0 0 3 - vyhovujici 6,20 0 0 0 13 0 0
082C |V Zahradach 11 26 26 143 0 0 0 0 0 0 0 0 0 0 2 - dobry 5,50 0 0 0 0 0
083C |V Zahradéach - parkovi§té 11 17 0 0 0 0 17 109 0 0 0 0 0 0 3 - vyhovujici 6,40 0 0 17 0 0
084C |V Zahradach 11 79 79 490 0 0 0 0 0 0 0 0 0 0 2 - dobry 6,20 0 0 0 0 0
085C |V Zahradach - parkovaci plocf 1| 8 0 0 0 8 42 0 0 0 0 0 0 3 - vyhovujici 5,30 0 0 0 16 0 0
086C |Dukelskych hrdint 1l 20 0 0 0 20 104 0 0 0 0 0 0 3 - vyhovujici 5,20 0 0 40 0 0 0
094C |Komenského - autobusovy za| || 41 41 86 0 0 0 0 0 0 0 0 0 0 2 - dobry 2,10 0 0 0 0 0 0
095C |Luéni 11 279 279 2173 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 5,60 0 2 525 0 1 0
096C |Dukelskych hrdinu 11 64 64 250 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 3,90 0 0 0 9 0 0
100C |Komenského 11 37 37 104 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 2,80 0 1 37 0 0 0
101C |CSA, Lugni, Nadrazni 11} 769 769 4165 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 5,50 94 12 972 0 1 0
102C |Dukelskych hrdinu 11 114 114 425 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 4,60 0 1 4 86 0 0
104C |Ceskoslovenské armady - pod Il 75 0 0 0 0 75 0 0 0 0 0 0 0 3 - vyhovujici 0,00 0 0 75 75 0 0
105C |Luéni 11 193 193 849 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 4,10 0 1 386 0 0 0
106C |Luéni - odstavna plocha 1] 27 27 259 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 9,60 0 0 0 6 0 0
113C |Nadrazni - recyklaéni misto 1l 11 11 66 0 0 0 0 0 0 0 0 0 0 3 - vyhovujici 6,00 0 0 32 0 0 0
119C |napojeni obce na silnici 11/256] 1 20 20 288 0 0 0 0 0 0 0 0 0 0 2 -dobry| 14,40 0 0 0 0 1 0
120C |Ceskoslovenské armady - par| Il 24 24 154 0 0 0 0 0 0 0 0 0 0 1 - vyborny 6,40 0 0 33 0 0 0
128C |parkovisté u hristé 1l 0 0 0 0 0 0 0 0 0 0 0 0 0 2 - dobry 6,00 0 0 0 0 0 0




